do/dME, [fb/GeV?]

Ratio

Groomed invariant mass Mér with zeyt = 2

C I \HHH‘ I \HHH‘ I \HHH‘ I \HHH‘ I \HHH‘ I \HHH‘ I \HHH‘ I \HHH‘ I \HHH‘ I HHHJ
109 & : —=
E combined_haduncert =
. C —— haduncert m
10° £ — haduncert_beam E
E lundvar ]
107 = =
10° & =
10° = =
104 = =
103 :‘V\HHH‘ \\HHH‘ \\HHH‘ \\HHH‘ \\HHH‘ \\HHH‘ \\HHH‘ \\HHH‘ \\HHH‘ ||| TTFH
E \HHH‘ [ \HHH‘ [ \HHH‘ [ \HHH‘ [ \HHH‘ [ \HHH‘ [ \HHH‘ [ \HHH‘ [ \HHH‘ T TTITHY
1.4 B8 —
13 E 5
1.2 E= —
1.1 E- 3
1 = =
0.9 =
0.8 E-
0.7 = =
0.6 E- =
0_5 = \HHH‘ | \HHH‘ | \HHH‘ I T 1 I N A \HHH‘ | \HHH‘ L LIIIFS
105 104 103 1002 100¢ 1 101 102 103 104 10

M2, [GeV?]

5



